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QUESTION 1

Which function does the Computer Browser service provide during remote installation of Veritas Storage Foundation
and High Availability Solutions 6.0 for Windows?

A. allows the installer to interact with the file system

B. maintains a list of products specified for installation
C. maintains an updated list of domains and workgroups
D. allows the installer to see local and shared storage

Correct Answer: C

QUESTION 2

Which two options are correct for expanding a 1GB striped volume with two columns to a 2GB volume? (Select two.)
A. add 4 256MB disks to the disk group and expand the volume using the max-size option

B. add 4 512MB disks to the disk group and expand the volume using the max-size option

C. add 2 512MB disks to the disk group and expand the volume using the max-size option

D. add 2 1GB disks to the disk group and expand the volume using the max-size option

E. add 1 1GB disk to the disk group and expand the volume using the max-size option

Correct Answer: AC

QUESTION 3

When a critical resource faulted, Veritas Cluster Server (VCS) attempted to restart a faulted service group on the same
system on which the group faulted instead of failing over the service group to the next available node. Which two
attributes does an administrator need to consider for a normal failover operation of a service group? (Select two.)

A. OnlineRetryInterval

B. OnlineRetryLimit

C. OnlineRestartInterval

D. OnlineNumRetries

E. OnlineRestartLimit

Correct Answer: AB
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QUESTION 4

Which Veritas Storage Foundation and High Availability Solutions 6.0 for Windows installation option uses the wide-area
connector process for inter-cluster communication?

A. Fast Failover

B. Volume Replicator (VVR)

C. DMP Device Specific Modules (DSM)
D. Global Cluster Option (GCO)

Correct Answer: D

QUESTION 5

Which Symantec service or product is used to monitor clusters?
A. Symantec Operations Readiness Tool (SORT)

B. Veritas Enterprise Administrator (VEA)

C. Veritas Operations Manager (VOM)

D. Symantec Operational Services (SOS)

Correct Answer: C

250-352 Practice Test 250-352 Study Guide 250-352 Braindumps

250-352 Practice Test | 250-352 Study Guide | 250-352 Braindumps 3/3


https://www.geekcert.com/250-352.html
https://www.geekcert.com/250-352.html
https://www.geekcert.com/250-352.html
http://www.tcpdf.org
https://www.geekcert.com/250-352.html
https://www.geekcert.com/250-352.html
https://www.geekcert.com/250-352.html

